Dexter DDAD30 Rear View

26 Inside

Dexter Commercial Dexter DDAD30 Dryer Parts Parts Diagram Rear View
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
* 9627-861-001 Wire Harness Overtemperature
Switch
" 9801-095-001 9801-095-001P. Airflow Assy.
1 9539-461-009 Switch, Air Flow
2 9029-174-001 Bracket, Switch- Air Flow
3 9008-007-001 Actuator, Switch
4 9451-169-002 Pin, Cotter
5 9545-020-001 Screw, Switch Mtg
* 8640-401-001 Nut, Special Twin
" 9550-169-003 Shield, Switch
" 9545-008-001 Screw 10-32 x 1/4

7 9376-309-003 Motor, Drive


http://www.pwslaundry.com/c-702234-commercial-dexter-ddad30-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-8904822-dexter-9627-861-001-harness.html
http://www.pwslaundry.com/i-6688377-dexter-9801-095-001p-airflow-assy.html
http://www.pwslaundry.com/i-127729-dexter-9539-461-009-switch.html
http://www.pwslaundry.com/i-6686562-dexter-9029-174-001-bracket-airflow.html
http://www.pwslaundry.com/i-4966992-dexter-9008-007-001-actuator.html
http://www.pwslaundry.com/i-6687248-dexter-9451-169-002-pin.html
http://www.pwslaundry.com/i-788193-dexter-9545-020-001-screw.html
http://www.pwslaundry.com/i-367206-dexter-8640-401-001-nut.html
http://www.pwslaundry.com/i-1395172-dexter-9550-169-003-shield-switch.html
http://www.pwslaundry.com/i-6687642-dexter-9545-008-001-screw.html
http://www.pwslaundry.com/i-788123-dexter-9376-309-003-motor.html

25
27

9452-740-001
9545-029-008
8641-582-003
9545-018-019
8641-582-007
9538-163-006
8641-581-017
9209-086-002
9538-166-006
9453-157-001
9545-028-013

9962-017-002

9278-039-001
9991-053-001
9545-029-010
9545-029-003
8640-415-004
8641-581-035
9861-022-001
8641-581-035
9487-200-003
9908-039-004
9036-145-002
9908-040-001
9538-164-001
9306-006-000
8640-222-000
8641-582-015
9040-077-001
9040-073-009
9534-319-002
9099-012-002
9248-022-002

9125-005-001

9451-146-001
8520-141-000
9545-008-026
9825-059-001
9074-314-001

9545-008-024

9973-030-001

9453-157-001

9029-173-001

9962-017-002P

Not Available

Not Available

Plate, Motor Mtg

Bolt 3/80 - 16 x 3/40
Lockwasher

Screw, Motor Plate to Hsg Back
Lockwasher 1/4

Spacer

Flat Washer

Rubber Grommet

Grommet Spacers

Pulley, Motor

Screw, Set

Blower Back

Impeller, W/Set Screws
Support Assy, Intermed Pulley
Bolt, Rd Hd 3/8-16 x 1 1/4
Bolt, 3/8-16 x 1 1/2

Nut

Washer, Flat

Arm Assy-Tension, Complete
Washer, Flat

Ring-Retaining

Pulley Assy, Intermediate
Bearing Assy (included in above)
Pulley Driven

Spacer, Shaft

Key, Tumbler Shaft

Nut, Hex

Washer, Lock

Belt, Drive- Motor

Belt, Drive- Tumbler

Spring, Tension

Chain, Tension

Hook, Tension

Damper Inside Duct Exhaust
Pin, Damper

Nut, Spring

Screw, Vault Mtg

Cover Duct Upper

Cover Duct Lower

Screw HX Head Tapping (Mounts
bracket housing to dryer)

Heat Recirculation Assembly Duct
Pulley, Motor

Bracket for Wire Harness Under
Burner Housing


http://www.pwslaundry.com/i-6687284-dexter-9452-740-001-ddad-motor-plate.html
http://www.pwslaundry.com/i-6687711-dexter-9545-029-008-screw.html
http://www.pwslaundry.com/i-6686397-dexter-8641-582-003-lockwasher.html
http://www.pwslaundry.com/i-788192-dexter-9545-018-019-screw.html
http://www.pwslaundry.com/i-4966988-dexter-8641-582-007-lockwasher.html
http://www.pwslaundry.com/i-1396838-dexter-9538-163-006-spacer.html
http://www.pwslaundry.com/i-4966982-dexter-8641-581-017-washer.html
http://www.pwslaundry.com/i-788093-dexter-9209-086-002-grommet.html
http://www.pwslaundry.com/i-6687583-dexter-9538-166-006-spacer.html
http://www.pwslaundry.com/i-788136-dexter-9453-157-001-pulley.html
http://www.pwslaundry.com/i-788196-dexter-9545-028-013-screw.html
http://www.pwslaundry.com/i-6688789-dexter-9962-017-002p-blower-back.html
http://www.pwslaundry.com/i-788109-dexter-9278-039-001-impeller.html
http://www.pwslaundry.com/i-6689007-dexter-9991-053-001-support-assy.html
http://www.pwslaundry.com/i-6687713-dexter-9545-029-010-bolt.html
http://www.pwslaundry.com/i-6687709-dexter-9545-029-003-bolt.html
http://www.pwslaundry.com/i-6686347-dexter-8640-415-004-nut.html
http://www.pwslaundry.com/i-6686391-dexter-8641-581-035-washer.html
http://www.pwslaundry.com/i-788257-dexter-9861-022-001-arm-assytension.html
http://www.pwslaundry.com/i-6686391-dexter-8641-581-035-washer.html
http://www.pwslaundry.com/i-788146-dexter-9487-200-003-ring.html
http://www.pwslaundry.com/i-788269-dexter-9908-039-004-pulley-assy.html
http://www.pwslaundry.com/i-788063-dexter-9036-145-002-bearing.html
http://www.pwslaundry.com/i-127717-dexter-9908-040-001-pulley.html
http://www.pwslaundry.com/i-788171-dexter-9538-164-001-spacer.html
http://www.pwslaundry.com/i-788110-dexter-9306-006-000-key.html
http://www.pwslaundry.com/i-367202-dexter-8640-222-000-nut.html
http://www.pwslaundry.com/i-788599-dexter-8641-582-015-lockwasher.html
http://www.pwslaundry.com/i-127709-dexter-9040-077-001-belt.html
http://www.pwslaundry.com/i-127710-dexter-9040-073-009-belt.html
http://www.pwslaundry.com/i-977634-dexter-9534-319-002-spring.html
http://www.pwslaundry.com/i-6686724-dexter-9099-012-002-chaintension-st-6-3.html
http://www.pwslaundry.com/i-6686946-dexter-9248-022-002-s-hook-heavy.html
http://www.pwslaundry.com/i-6687241-dexter-9451-146-001-pin.html
http://www.pwslaundry.com/i-6686244-dexter-8520-141-000-nut.html
http://www.pwslaundry.com/i-788190-dexter-9545-008-026-screw.html
http://www.pwslaundry.com/i-12297223-dexter-9825-059-001-dryer-cover-duct-upper.html
http://www.pwslaundry.com/i-12297224-dexter-9074-314-001-dryer-cover-duct-lower.html
http://www.pwslaundry.com/i-6687655-dexter-9545-008-024-screw.html
http://www.pwslaundry.com/i-788136-dexter-9453-157-001-pulley.html
http://www.pwslaundry.com/i-8904766-dexter-9029-173-001-bracket.html

